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1 Point charge moving with constant velocity

A point charge moves with constant velocity v = vk as observed from the ' frame. Let the
S frame be the frame in which the particle is at rest.

a) Determine an expression for the electric and magnetic fields as observed from the §
frame.

b) With what velocity must the S’ frame move with respect to the S frame?

c) Use the field transformations to determine the fields in the S’ frame. Express the results
in terms of coordinates for the primed frame.
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